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The process Is strongly resonant.
How can this be seen in its Bode plot and pole-zero diagram?
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How can it be estimated for the process?

Bode Diagram

Im s

T 20

Magnitude (abs)
8O

¥——> Re s

1 20

Phase (deg)

-360 =

10’ 10 10°

Frequency (rad/sec)



The process Is strongly resonant.
How can this be seen in its Bode plot and pole-zero diagram?

What is the resonance frequency?
How can it be estimated for the process?

Bode Diagram

Im s

T 20

Magnitude (abs)
8C)

¥——> Re s

1 20

Phase (deg)

-360 =

A A i A A A Al A i A A r o ' .

o 10 10 Is the system stable?

Frequency (rad/sec)



What is state feedback?
What is the difference from what we did with the PIDs in previous labs?
Which is expected to perform better?
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How many states does the closed-loop system have?

Y(s) = G (s)R(s)
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How many states does the controller with integral action have?
What are they?

- [, —@ - Process

—1 Kalman

—1 -

Figure 14 Feedback from estimated states with integral action.
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